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QUESTION 1

Which statement is true concerning cookie persistence? 

A. Cookie persistence allows persistence independent of IP addresses. 

B. Cookie persistence allows persistence even if the data are encrypted from client to pool member. 

C. Cookie persistence uses a cookie that stores the virtual server, pool name, and member IP address in clear text. 

D. If a client\\'s browser accepts cookies, cookie persistence will always cause a cookie to be written to the client\\'s file
system. 

Correct Answer: A 

 

QUESTION 2

Assume a client\\'s traffic is being processed only by a NAT; no SNAT or virtual server processing takes place. Also
assume that the NAT definition specifies a NAT address and an origin address while all other settings are left at their
defaults. If the origin server were to initiate traffic via the BIG-IP, what changes, if any, would take place when the BIG-
IP processes such packets? 

A. The BIG-IP would drop the request since the traffic didn\\'t arrive destined to the NAT address. 

B. The source address would not change, but the destination address would be changed to the NAT address. 

C. The source address would be changed to the NAT address and destination address would be left unchanged. 

D. The source address would not change, but the destination address would be changed to a self- IP of the BIG-IP. 

Correct Answer: C 

 

QUESTION 3

Which two statements are true about SNATs? (Choose two.) 

A. SNAT\\'s are enabled on all VLANs, by default. 

B. SNAT\\'s can be configured within a Profile definition. 

C. SNAT\\'s can be configured within a Virtual Server definition. 

D. SNAT\\'s are enabled only on the VLAN where origin traffic arrives, by default 

Correct Answer: AC 

 

QUESTION 4

Which two statements are true concerning the default communication between a redundant pair of BIG-IP systems?
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(Choose two.) 

A. Synchronization occurs via a TCP connection using ports 683 and 684. 

B. Connection mirroring data is shared via a TCP connection using port 1028. 

C. Persistence mirroring data is shared via a TCP connection using port 1028. 

D. Connection mirroring data is shared through the serial fail-over cable unless network fail-over is enabled. 

Correct Answer: BC 

 

QUESTION 5

A site needs a virtual server that will use an iRule to parse HTTPS traffic based on HTTP header values. Which two
profile types must be associated with such a virtual server? (Choose two.) 

A. TCP 

B. HTTP 

C. HTTPS 

D. ServerSSL 

Correct Answer: AB 
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